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Intersection of Quadratics & Lines
(more solving quadratic equations)

Recall from last class: \ 1 Lo
6 -4 -2 0 !

Consider y = x> +6x, and
solve for

In this example, we were
actually solving for the

intersection between the ‘ ,
parabola and the horizontal e e N i i et
straight line. b S

y
Solutions: (-4, -8) and (-2, -8)
X Y kY

Intersection of Quadratics & Lines
(more solving quadratic equations)

\
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Consider y=x>+6x,and | EEEEE AR (e
soive for G2 BNERERINE
BT Y
In this example, we solve i \ b
for the intersection between AR A
the parabola and the vertical S\ ----------------
straight line. S N S
e S ST S s e v

Solution: (-2, -8)
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Intersection of Quadratics & Lines
(more solving quadratic equations)

RN

16 4 -2 0
Consider y =12+ 6%, and
solve for y=x—4.
gmri
In this example, we solve ----------
for the intersection between W S O S i S
the parabola and the given N S/ S RO A
straight line. e X B
IR o o e

Solutions: (-4, -8) and (-1, -5)

Intersection of Quadratics & Lines
(more solving quadratic equations)

A linear-quadratic system will have zero, one, or two
solutions.

One Solution Two Solutions
(tangent line) (secant line)

No Solution




09vt Intersecting Quadratics & Lines.notebook February 13, 2019

Recall: To solve an equation is to find the value(s) for
the variables that satisfy the equation
(i.e., make it true)

P("’(l ‘3)

Given a quadratic rglatioh, y = Ax? + Bx +Q

and a linear relation,

the solution will b oint(s) where the parabola
and straight ling(intersect.

@:Ax2+Bx+C(1> @:mx+k(2>
Solve the system of equations using the fact tha@

Y=Y
Ax* +Bx+C=mx+k
|
%""—’J

ﬁa
a +bx+c=0 5 C 7
'\J GQF

Sub the x-values from the solution(s) into either original
relation to find the corresponding y-values.
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m=1, yot 22

Ex.1 Find the\points of intersection (f any) betwe’
y=2(x-1)>+2Zandy=x+2

2 (x-0"42= xx2
2(7(2_2914—(.)4/{: X4z

L poiks o wherseohn are
15

LY (z, 4)

— S -5
7" ~Yu bl —x =D >
2xt=Sx ¥2 =0 I-i-¢
27(2__7(-(47(*2 =0 S’(AL?waf'ob:'k—(—Z,
EC
7((7"‘") 'Z(Z"’/):O Q(:% , Y= —7‘_ -2
- -2) =0 _ o
(2x-N(x-2) S
/ L ==
-l =0 x =7 >
X:i X<2,Y%24+2

= 4

y=2(x-1)2+2

15 2 25 '3
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)

3.5

3-

i

5 ‘1 15 2 25 '3

o
O ———————

1 05 |o
-0.5

Intersection atx =0.5and x =2
-1

Intersection of line (red) and
parabola (blue) is
equivalent to finding the
zeroes of the parabola
formed by rearranging the
equation (purple)

E y=2(x-1)2+'2

ps 3 2(x-1)*+2=x+2
21D’ +2-(x+2)=0
2x° —5x+2=0
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e-the equatiou@‘of the lines that have
slope of 2}that intersect y =x(6—x)
Wt:) ML.;M%K
(c) never 'x(‘r?‘) kil
=mx +k bx —% = 2tk
T U+ K
slopt \;[:J' O_Lﬁ__ii/J
. @xl-l—[MC +c
g:2x+f< e sochon + D = 0
b'-4ac =0
) -4(() = O
=l -4k =0
b =4k
| k=4 l
Lost k>Y k<
b = b4k D=k~
= lé*'f(f) =)
TN = /LI
- _-g =4
pco,m st Do, dwn sol
(@ 4=2x+4
(L) ‘3 z x4l k<d
© ;,3—_19(4*; k>4

Assigned Work:

worksheet
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